
THE LIFE OF 

PI !!



Pi (π) is the ratio of a circle’s circumference to its 
diameter. Pi is a constant number, meaning that for all 
circles of any size, Pi will be the same.

1) What is Pi?



The symbol (Greek 
letter “π”) was first 
used in 1706 by 
William Jones. 

A ‘p’ was chosen for 
‘perimeter’ of circles, 
and the use 
of π became popular 
after it was adopted 
by the Swiss 
mathematician 
Leonhard Euler in 1737

1) Symbol for Pi?



1) WHAT IS PI?
1) Value of Pi?

The value of Pi can be written to an infinite 
amount of decimal places

Sometimes we round Pi to 2 decimal places and 
use the value 3.14. Why?



2) PARTS OF A CIRCLE



2) PARTS OF A CIRCLE

Radius – Starts from the 
centre to the 
circumference. Think how 
a radiator radiates heat

Circumference – The 
distance around a circle

Diameter – The width 
of a circle



3) CIRCUMFERENCE/ 
PERIMETER OF A CIRCLE

To calculate the circumference of a 
circle, the distance around a circle, we 
simply do this;

Circumference = π x diameter

10 cm

= 3.14 x 10cm

= 31.4 cm



3) CIRCUMFERENCE OF A 
CIRCLE

Try to calculate the circumference of a 
basketball hoop.

46cm

Circumference = π x diameter

= 3.14 x 46cm

Circumference = 144.44cm



ONLY KNOW THE 

RADIUS ??

Remember that the radius is ½ of the diameter

OR  the diameter is equal to 2 × radius, (2r), so we can 
also write this formula as:

C = 2πr

It does not matter which you use – as long as you are 
clear whether it is the diameter or radius.

8cmC = 2πr

C = 2 x 3.14 x 8

C = 50.24cm



Calculate the circumference of 

these circles

4cm

1.5cm

12m

3.4cm

, 150m

5cm



HOW TO REMEMBER......

Cherry pies taste delicious!

C = π x d



4) AREA OF A CIRCLE

Area is the space inside a shape. Like a 
play area – the space where you play. 
We can calculate the area in a circle by 
doing this;

Area = π x radius2

5 cm

= 3.14 x 52

= 78.5 cm2



4) ONLY GOT THE DIAMETER

There is only 1 formula – so you must 
always find the radius first by halving 
the diameter.

Try to calculate the area of a 2 pound 
coin 

Area = π x radius2

= 3.14 x 142

= 615.44 mm2

28 mm



Calculate the area of these 

circles 

4cm

1.5cm

12m

3.4cm

, 150m
A = πr²



HOW TO REMEMBER......

Apple pies are too!

A = πr²



5) REAL LIFE

Calculate the Area of a football pitch centre circle?

18 metres



5) REAL LIFE

18 metres

Area

Area = π x radius2

= 3.14 x 92

= 254.34 m2



5) REAL LIFE

Calculate the Area and Circumference the London Eye?

18 metres

60 metres



5) REAL LIFE

18 metres

60 metres

Circumference Area

Area = π x radius2

= 3.14 x 602

= 11304 m2

Circumference = π x diameter

= 3.14 x 120m

= 376.8. m


